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Cuadro 17 (continuación 2)/Table 17 (continued 2)
Paraguay: tablas abreviadas de mortalidada

Paraguay: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.064 0.061  100 000  6 056  95 245 0.930 b 6 351 759 63.5
1 4 0.006 0.025  93 944  2 356  369 694 0.981 c 6 256 513 66.6
5 5 0.001 0.007  91 588   664  456 280 0.994 5 886 819 64.3

10 5 0.001 0.005  90 924   454  453 486 0.994 5 430 539 59.7
15 5 0.002 0.008  90 470   717  450 561 0.991 4 977 053 55.0
20 5 0.002 0.010  89 754   902  446 513 0.990 4 526 492 50.4
25 5 0.002 0.010  88 852   926  441 942 0.989 4 079 978 45.9
30 5 0.002 0.012  87 925  1 017  437 085 0.987 3 638 036 41.4
35 5 0.003 0.015  86 909  1 263  431 387 0.983 3 200 952 36.8
40 5 0.004 0.020  85 646  1 754  423 845 0.974 2 769 565 32.3
45 5 0.006 0.031  83 892  2 623  412 903 0.961 2 345 720 28.0
50 5 0.010 0.048  81 269  3 894  396 611 0.939 1 932 817 23.8
55 5 0.015 0.074  77 375  5 713  372 594 0.907 1 536 205 19.9
60 5 0.024 0.113  71 662  8 103  338 052 0.860 1 163 612 16.2
65 5 0.037 0.170  63 559  10 822  290 740 0.791  825 560 13.0
70 5 0.058 0.256  52 737  13 491  229 958 0.695  534 820 10.1
75 5 0.091 0.372  39 246  14 580  159 781 0.568  304 862 7.8
80 5 0.146 0.527  24 666  13 003  90 824 0.430  145 081 5.9
85 5 0.207 0.660  11 663  7 699  39 068 0.312  54 257 4.7
90 5 0.277 0.768  3 964  3 045  12 208 0.217  15 189 3.8
95 5 0.350 0.846   919   778  2 651 0.110 d  2 981 3.2

100 ω 0.429 1.000   141   141   329   329 2.3
Mujeres/Females

0 1 0.053 0.051  100 000  5 083  95 985 0.942 b 6 763 655 67.6
1 4 0.005 0.018  94 917  1 750  375 084 0.986 c 6 667 669 70.2
5 5 0.001 0.006  93 166   569  464 410 0.995 6 292 586 67.5

10 5 0.001 0.004  92 597   374  462 051 0.995 5 828 176 62.9
15 5 0.001 0.005  92 223   506  459 851 0.994 5 366 125 58.2
20 5 0.001 0.007  91 717   599  457 088 0.993 4 906 274 53.5
25 5 0.002 0.008  91 118   717  453 798 0.991 4 449 186 48.8
30 5 0.002 0.009  90 401   848  449 884 0.989 3 995 388 44.2
35 5 0.002 0.012  89 553  1 067  445 097 0.986 3 545 503 39.6
40 5 0.003 0.016  88 486  1 418  438 885 0.980 3 100 406 35.0
45 5 0.005 0.023  87 068  2 022  430 283 0.971 2 661 522 30.6
50 5 0.007 0.035  85 046  2 937  417 885 0.957 2 231 239 26.2
55 5 0.010 0.051  82 108  4 175  400 105 0.935 1 813 354 22.1
60 5 0.016 0.079  77 933  6 175  374 231 0.898 1 413 249 18.1
65 5 0.027 0.128  71 759  9 157  335 902 0.836 1 039 018 14.5
70 5 0.046 0.206  62 602  12 913  280 727 0.742  703 116 11.2
75 5 0.077 0.322  49 689  16 007  208 426 0.614  422 390 8.5
80 5 0.128 0.481  33 682  16 203  127 901 0.470  213 963 6.4
85 5 0.189 0.626  17 478  10 934  60 057 0.342  86 063 4.9
90 5 0.261 0.746  6 544  4 883  20 513 0.236  26 006 4.0
95 5 0.337 0.834  1 661  1 386  4 840 0.119 d  5 493 3.3

100 ω 0.421 1.000   275   275   654   654 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


